1 REPNER (HEBAH)

S 6F12AUGE

(BLiAF)
BEEXE 2,200 H
0.0m3~5.0m3%T 1om3sip 792
5.1m3~10.0m3ZT 1om3sih 781 M
10.1m3~15.0m3ZT 1om3sp 759 [
ftEPE | 15.1m3~20.0m3FT 1om3sh 726 M
20.1m3~25.0m3FT Lom3sy 693 M
25.1m3~30.0m3FT Lom3sb 660 M
30.1m3~40.0m3FT 1om3sb 605 M
40.1m3Bl Lt Lom3s 550 M
2 5t 8 f
(1) J>0-fam2ezf120m3ZFADIZEHAH)
(REERIFNE) (BEARRE) (E=ERE)
17,490 H = 2,200 M + 15,290 H
(0.0m3~5.0m3m#F TOEAS) 5.0 m3 x 792 = 3,960
(5.1m3~10.0m3mETOMEAS) 5.0 m3 x 781 = 3,905M
(10.1m3~15.0m3mZFTcofEAs7) 5.0 m3 x 759 = 3,795H
(15.1m3~20.0m3mETOEAS) 5.0 m3 x 726 = 3,630M
5t 15,290M




